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What is the ruling when one sells his slave to X>10?

OVERVIEW

The X723 cites a query that was presented to X'"2 n1"9, whether 172y 7210
mnH RY X107, Our MdOIN wants to know why the question was not posed
concerning "0 (as well); what is the 7°7 of a va that comes from X107

mooIN rejects one option:
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One cannot say that concerning bringing a wx from X0, they' were
certain that 10 is considered like "1 and 1"92 is required”. Even though
this ruling is indeed valid as the 8n>2 will shortly teach us’ that X0 is
considered 2" concerning *pv%a. Nevertheless we cannot say that they were
certain concerning 1°v°3; they only queried concerning the law of selling a
slave to X0 -

We cannot make this assumption —
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For if this is so; that even though concerning 1’03 they were sure that X110
is considered 2", nevertheless concerning 72y they were not sure whether it
is considered *"& or ", then their reasoning would be the exact opposite

of what RaR 92 X717 '3 was certain. X"a " inferred from the mwn, that since »"
said 1Y% >"R> 0¥ that means that concerning 072y, the city 12¥ is not considered >"X. We
derive from this that according to X"2 n"7 it is more likely that a location will be
considered "X for v than for 0’72y, as we see concerning 10¥; that it is *"X for v and
5"n for o712y’ If we were to assume that those who asked ¥ X™0% 172y 12m7,
maintained that concerning X>10n 03 X°247 it is considered 5™n; that would be the exact
opposite of the assumption of 8"2 1", According to X"2 "1 if a place is "1 concerning
1w it would certainly be considered 2" concerning 0>72y. Therefore there would be no
room for the question ¥ X0 72y 75wA; for if we assume that it is 2" for Pwo) it is

' The 727 *32 who were querying X"2 1"
? Therefore they did not query X" n".
? Obviously though, they did not know of this X013, otherwise that would not have asked concerning Tav.
It is extremely unlikely that they only knew the part of the Xn*12 concerning 7).
* mooin is explaining why one may give credence to such an assumption; since it is indeed a correct one.
> See “Thinking it over’ # 3.
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certainly 5™ for 0>72v. It would seem highly unlikely that X"2 1" and those that posed
the question should have diametrically opposed assumptions. It is therefore plausible to
state that they were unsure® as to the status of 10 in X™10 as well’.

SUMMARY

Those who asked the question concerning X*70% 172y 1217 cannot have
maintained that 1"52 "% X107 v) X2, for 8"a 1" clearly states that it is
easier to attain the status of *"X for 1°v°) than for o>72v.

THINKING IT OVER
1. What is the 17 if one sells his slave to 922?

2. Are the criteria for saying 192 and M x¥1 the same?®

3. Why indeed is it easier to consider a place *"X for Pv3,” than for o>72y?"

% See 'xn "5 0"; that they assumed that concerning 103, we assume that X0 is like *"x.
7 Perhaps the reason they asked concerning a*72y only, instead of Pux as well, is that they were studying
the laws of 0’72y at the time. See 7w 0"7nn ,w" &7 '01N for other possibilities.
¥ See m MX 7"210 ,w"w1 and T0p MK "™
? See footnote # 5.
"% See 2w % AR A2 007 T
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